HwW# . 20212562 552

) CSL C Goincidence §He lattice) boundor

— §pecia) orientokionN rytotion angleS tat (on hoppen
- Gidirg directiy o top of Cachy Tther

e e e & 0 ¢ 0 e e
of o M@ o0 o, o, o @

w«vwf"(‘ °
L] L] L] L e e L] L L] L] ®
W e ¢ # @ 9 o
. ° e e ° e v e . DWM S & e e 3

Tt s e

('(0:.(
e® oo ¢4 ©

e o
LI T N

° O O e . L] ] e ] e ° %% oo g0 e ° o
L4 .

-ewu‘r 9mn boun
(stort Vste one of Gnose WFh respect
o +the other )
¢ YN, where 1/N lattice sites overlap

D Some of these otoms are Guincident WHh the position of tre
Otoms on the lottiLe
2 how Many red (otkice SHES HT are 7n +Hls Stuare = Gt 13 lattice
(X' red on the Corner onY Counts as one ; 4 Comer = 4w  STées

= thot 1S, N s picture
L we on coll & I3 (Sigma (3) CSL relationsizp.

> one Ut o€ (3 of Ehose (attice STes ar ouerlapping. blw the
ved & blue lattices
K slom 3= Faar
* 54=%U5) B2 oientation GnAnEUL %ew|  ; perfect Cmste
53 =N bowndery
343 54 Vi FAAD



bluwgm-eemndot

2? S Gunt ore of-the
lot€ices, So let's

( titted one vh respect 4o Hoe other)

D huo mony red Sikes ¢ the squon’ = B &

b Y5 csL boundony. SumetiTng Spectol relalon sip

I I = bundary eneny
Snpsl dramortTealy,

HE it | P
I3 T Ie5 Ee5TA7E03 [ 39 :-u@ :-3@:-9 CStgmao.
B e gnin Lowndog)
@~ . . 600 - e
"‘E 600} / e \c/ e \."\ o’.\./"o 7 \c'\ “~
% . . T ./
400 .
ook \
/ . -
- o \
3200 \l =0 -
:
el il e L o Tl B L e e
0 20 40 60 80 0 20 40 60 80 100 120 KO 160 180
" © Misorienlalion, 8 deg ®

—
Gt 9nfin bowndory

.9.) 0N
235 relationship .-
° o 5
o
o
o e ° °
° o " °
° ol
. ° o - °
oL ° o
© 600 0,8 0% @ 0,6 0% © 0000
o b®. ¢
3 o o
© 0,0 0% @ o,0 c‘ooo.‘oco(’ooao
" o ° 5 o
° o eiE g °
©% © 0,0 0% 0 0,6 0% © 0,0 0 © o
¢ % ot 2 o % o
0,0 9% © 0,6 0% © 0,6 0% © 0,0 ©
° ° e ° o / . o 0.
% o 0,0 0% © 0,0 0% 0 0,0 0% o o
o % bR ol ey R
° o o o 40
0% o 0,6 6% o 0,0 0% s 0%
A 80 or D e %
~ ° © 0,0 0% o0 0,0 0% @ oy0 0,0
° % e o o e o ° 09 o
o o 20 © 0,0 0% o 0,0 0% 0% o
ed an reen®,° <-s A NPT & o0
© 0,6 390 0,0 o o 0 %0 o

lattices

oD
2% o5& 50 g

incid ft 525 9% 0 0,8 9% o o
coincide after _“+¥seys tof s e Etar s v
rota“on of ° o('\.o‘cr ° 0,0 8% o o % 0 0 0 ®
© 00,8 0% 0 0,6 9% 0 9, 0 0 o o

2 tan1 (1/3) = © 008 0,89% 00,6 0% 00000
R bl_:ooooao[‘oofrooocooooo
36.9 50 00 & 0% 0 000000000



Y8 —aafue

Yn+ %, Xﬁﬁ Y8 o AGR 3 RT
XP T KExE

nA ? Ses /RT
4 -—-&(5
2 X Xr?(“.%—) = X?e

= _AG.%/QT-
D WP XS - e

n-
( Hint ; EX:XhB g & n - —Aé'sm/kr Be-éc‘g“a/gr
a=l _ .
S E e )T S b TS 2xte ;
- Tl Se
Jel ¥

Seg/RT
n- _Aq.ftgfkf 1 8 -G}
3[xfrxt+Zxte )= X

n-| <3
D X=

Y
H"ni X;gCe’éa'g /I%r_ )
J=\ B



